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3.

(1) x=—3+%:—3xf=—4 (5) M &E8fFL T

3

5x +40 = 24x + 2
(2) 5x—8x=-1-8

5x—=24x =2 -40

-3x=-9
~19x = -38
x=3
x=2
(3) 4-21x+35=-x-1 (6) WL ZEZ20f% LT

—2lx+x=-1-4-35 43x+7) = 5(x=7)

~20v =40 12x 428 = 5x— 35

x=2 12x — 5x = =35 -28
(4) —Tx+8=-5x—12 Tx = —63

~Tx+5x=-12-8 x=-9

—2x = =20

x =10

(1) FERX 2x—(ax+7) =512 x=4 ZRAT 5,

88— (4a+7) =5 da=5-8+7
a=-1

2) HLBEEE x tTDL

5x-3)=3x+1 2x = 16
Sx—-15=3x+1 x=28
S5x-3x=1+15 B B IR ]

EOAREE AL T DL
fio Tl —RBWIe=5620
1500 — (80x + 680) = 260

S AN x=7 AL I TA


http://kore.mitene.or.jp/~tohru/mokuji-3.htm
http://kore.mitene.or.jp/~tohru/itieq-1m.pdf

4. r—%UEAOMEEE xME LT, FoTWhWikez2@Y TKT,
10x — 300 = 8x + 260

“hafpot  x =280

B> T\ =84 =10x 280 — 300 = 2500

b‘*—f'k‘lﬂﬁl ......... 280|IJ
Ffo T\ =54:---2500H

5. xRICHER S &5
AR DB EREEHBR OS2 iR =2100
60x + 80x = 2100

Iz fENT

6. LFDOEREE xNETHE
7T AERO NEIT (20 +x) NETRD,

it,ﬁ%z&?xé%®%-2?%é#%
x—(20+x)><l—2
- 2

T RERNT x =16
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7. BIEBE)LZEERE - x+ 120+ 500 m

BIHE N R 90km C255 2 A& - 7= BB -
s & 77 B | CHASEL - 60 THEI S
fhati’d

km%m = : 1000f%4 %
. . 90 x 1000
533 90km =45 K X6—0 m

Z D5 T2 NS AE - 7o B wxz m

90 x 1000
—x2
60

x+ 120 + 500 = 3000

x+ 120+ 500 =

x = 2380 2380m
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